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Question 1

Complete

Mark 1.25 out of 1.25

What is the output for the following circuit:

10 0 1

- he—{ fo 1

—— —__J —— - ——
<k 54 3 s2 s1 so

a. 000101

b. 001001

c. 100101

d. 110101

e. 101001

The correct answer is:
100101

https://itc.birzeit.edu/mod/quiz/review.php?attempt=687942&cmid=252940 118


https://itc.birzeit.edu/my/
https://itc.birzeit.edu/course/view.php?id=14160
https://itc.birzeit.edu/course/view.php?id=14160#section-0
https://itc.birzeit.edu/mod/quiz/view.php?id=252940

9/6/2021 Second Exam: Attempt review

Question 2
Complete

Mark 1.25 out of 1.25

Assume that 10 has the lowest priority, show the output Y1YO for X2X1X0= 111

Decoder Encoder
X, —A Y, l, A=Yy,
X, ——{B Y, I, Bl=—y,
X, Y, 1,
Y, I

a. None is correct
b. 10
c. 11
d. 00

e. 01

The correct answer is:
11

Question 3

Complete

Mark 1.25 out of 1.25

The circuit has two inputs X and Y each is a 2-bit unsigned umber. It has an output number
Z such that

Z=X2+Y?

X
7 VAN

2

the minimum number of bits required for the output number Z is

Select one:
a. 4

b. 5

The correct answeris: 5
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Question 4
Complete

Mark 0.63 out of 1.25

A demultiplexer is used to ...

a. None is correct
b. Perform serial to parallel conversion
c. Route the data from single input to one of many outputs

d. Allis correct

e. Select data from several inputs and route it fo single output

The correct answers are:
Route the data from single input to one of many outputs,

Perform serial to parallel conversion

Question 5

Complete

Mark 1.25 out of 1.25

You asked to design a combinational logic circuit which takes a 4-bit unsigned number X (X3 X, X; Xg) as input and produces an
output F which equals the result of integer division of X by 3 (e.g., if X=7, F=2). How many bits does the output F have?

Select one:
a. 4 bits
b. 3 bits
c. 1 bit
d. 2bits

The correct answer is: 3 bits
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Question 6
Complete

Mark 1.25 out of 1.25

The size of the smallest multiplexer that can be used to implement any function of the form F(A,B,C,D) without any other logic
gates (not even invertor) is:

b. 32xI1
c. 21

d. 16x1

The correct answer is:
16x1
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Question 7

Complete

Mark 1.25 out of 1.25

In the priority encoder shown below. Dg is highest priority and Dy is the lowest priority, the output Y,Y,Yg = 101 when the status at

inputs Dg-D7 is as described in with all other inputs being in a don't care condition.

Higher
Prigrity
— D
0
— D1
— D, .
— D B-to-3
I Prlority Y1
— D
4 Encoder Yo
— D, LSE
— Du
e DT
Lower
Priarity
Select one:
a. Diy=landDy=1.
b. D3=1andDs=1.
c. Dp=1andD,=1.
d. Dg=1andD5=1.

The correct answeris: Dg =1 and D5 = 1.
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Question 8
Complete

Mark 1.25 out of 1.25

Having the following diagram, represent the function G in terms of F1(a,b,c) , F2(a,b,c) and X.

2x1 MUX
F.l{a.bpc] — |n
— G(F ,F3.X)
Faabe) —h ¢
X

Select one:

a. X F1+XF2

b. X’F1+XF2

c. X F1+ F2

d. XFI1+X F2

e. X FI"+XF2

The correct answeris: X™ F1 + X F2
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Question 9
Complete

Mark 1.25 out of 1.25

Consider the following diagram of a 3-bit adder:

9 b aq b a4 b
L ] ,,
Cour—— FA FA N P—
L L

L
| l l
‘2 1 1

What is the value of 52, s1, sO and Cout, if a2a1a0 =101 and b2b1b0= 110 and Cin =0 ¢
Select one:

a. s2s51s0=011 and Cout=1

b. s2s1s0 =001 and Cout=1

c. s2s51s0=011 and Cout=0

d. s2s1s0=0110 and Cout=1

e. s2s51s0=010 and Cout=1

The correct answer is: 52 s1s0 =011 and Cout=1
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Question 10
Complete

Mark 0.00 out of 1.25

For the following two-bit adder/subtractor with overflow detection. If inputs M=0, two unsigned numbers A1A0= 01, B1B0= 01,
what's the value of $§1, 80, C, and V2

B Ay

1 By
— 1 > . M
4} 4
i 4
[ & [ C,
« - | FA | FA J

i

a. $180=11,C=1,V=0
b. $1s0=10,C=1,V=1
c. $180=10,C=1,V=0
d. $180=10,C=0,V=0

e. $180=01,C=1,Vv=0

The correct answer is:
$1S0=10,C=1,V=0
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Question 11
Complete

Mark 0.00 out of 1.25

The circuit below implements the following function using a MUX, what should be the input labeled (#) connected to?

F(A.B,C.D)=3(1,3,4,11,12, 13, 14, 15)

8x 1 MUX

a. 1
b. 0
c. D
d. D

The correct answer is:
D
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Question 12
Complete

Mark 1.25 out of 1.25

The correct Implementation of f(x,y.z) =[] (2.4.5) using 3x8 Decoder and one NAND gate

D1

D2
Iz 03

In
To 05

| ||

DT

b. 00
D1
" p2f— '
| D3

n sl
To 05 |—

| ||

DT

c. Noneis correct

The correct answer is:
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Do
D1
D2 o—
x —Iz D3 b—
M P
oo D5
D6
o7
Question 13
Complete

Mark 1.25 out of 1.25

Write the reduced Boolean expression for F1(X,Y,Z), Given that F2(X,Y,Z)= X YZ

0

\\ P ‘M". iw -‘
wane— Y j) F2(X,Y,2)
Y LU

c. Y+I°

e. Y+Z

The correct answer is:
YZ
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Complete

Mark 1.25 out of 1.25

Implement F(x,y,z)= 1(2.3,4,6,7) using Decoder and one NOR gate

a. 0
1
X — 2 — F
—_ 3 |—
Y DEC al_
Z7 5
6
7 —
b.
0
1
X — 2
_— 3
Y DEC 2
A 5
6
7
C. 0_
X T
— 2 . .
Yy— DEC 3—I
AN 5|
6
7L
d.
0
1_
X — 2 E
_— 3
Y DEC 2
A 5 -
6
7

The correct answer is:
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0
1
X — 2 — .
— 3 |—
Y DEC 2
Z7 5
5 e
7
Question 15
Complete

Mark 1.25 out of 1.25

The following is a Verilog behavioral description for the module CKT.
The CKTisa .
module CKT(l, Y, X);
input [1:0] I;
input X;
output [0:3] Y;
reg [0:3] Y;
always @(l or X)
case ({X, })
3'0000: Y = 4'b1000;
3'p001: Y = 4'b0100;
3'0010: Y = 4'00010;
3'b011:Y =4'00001;
default:Y = 4'01000;
endcase

endmodule

Select one:

a. 2-to-4 decoder with enable active high enable
b. 2-to-4 decoder with enable active low enable
c. 4-to-16 decoder with enable active high enable
d. 4-to-16 decoder with enable active low enable

e. 4-to-1 Mux with enable active high enable

The correct answer is: 2-to-4 decoder with enable active low enable

https://itc.birzeit.edu/mod/quiz/review.php?attempt=687942&cmid=252940
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Question 16

Complete

Mark 1.25 out of 1.25

Consider the following diagram of a 4-bit adder/ subtractor:

LA A n, A,

B A
LY .
— . Oy [ l .
-.“ _ 3 [ " ‘ll—
5 :

Configure the value of M, A3, A2, A1, A0 the above circuit to implement 4-bit 2's complement, such that the input is B3 B2 B1 BO,

and the output S3 52 S1 SO= (2's of (B3 B2 B1 BO))

a. M=1, A3=1, A2=1, A1=1, A0=1
b. M=0, A3=0, A2=0, A1=0, A0=0
C. M=1, A3=0, A2=0, A1=0, A0=0

d. M=0, A3=1, A2=1, A1=1, A0=1

The correct answer is:
M=1, A3=0, A2=0, A1=0, A0=0
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Question 17

Complete

Mark 1.25 out of 1.25

Implement the following function using only one 4-to-1 MUX without enable, no other gates allowed (But invertors are allowed).
fxyz)=x®y®dz

Select one:
a. Z—‘_\\‘*‘-
7
7 | IVux — F
7
Y x
b.
- TT—
7
7 Mux — F
>
/SE{:%
x Y
c T
Z —
7
7 Ilux — F
7
x Y
d \
Z —
7=
7 — Iux — F
7
x Y
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7 T
7 —
7 Ilux
7
T
¥ x
Z —
7 —
The correct answer is: Z'7
7

Question 18
Complete

Mark 1.25 out of 1.25

Mux — F

sg sl

The circuit represents the Boolean function

1 la paux
C—l11 2=x1

lo paux

la 2x1
5 ’7 5
B !
A
a. F(A.B.C)= A'C+ A'B'
b. F(A,B,C) = ABC+ A'B'

c. F(AB,C) = AB + A'C +A'B'

d. None

o

The correct answer is:
F(A,B,C) = AB + A'C +A'B'

F(A,B,C) = AB + A'C
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Question 19
Complete

Mark 1.25 out of 1.25

The function F(A,B,C) of this implemented circuit is:

L} L |
Dol
C—b x4 Di—
B — 1, Decoder D,
D S
E 3
1A > L
F
D
D 0
C—1hb 2xa D
B — i Decoder D, —
D S
En ’
] é - -

a. None

b. F=5(1,3,6,7)

c. F=5(0,1,3,6,7)

d. F=3(0,1,6,7)

e. F=3(0,1,3, ¢)

The correct answer is:
F=5>(0,1,36,7)

Question 20

Complete

Mark 1.25 out of 1.25

The largest decoder we can build using five 2-to-4 decoders with Enable without any additional components is a

Select one:
a. 4-to-16 decoder
b. 3-to-8 decoder
c. 6-to-64 decoder

d. 5-to0-32 decoder

The correct answer is: 4-to-16 decoder
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